7-11 Name Date

Add or subtract.

1. 5,000 2. 286,361 3. 863,542
— 3,296 + 45,743 — 794,815
1,704 332,104 68,727
Multiply.
1_4 2_ 18 7. 5
4.4x§—§ 5.9x§—--§xor6 6.3x§—?,0r2§
5 _10 5 6 _ 30 2 3 _83 -3
7.2x12_12:or5 8.5><7_.7 or47 9.7)(10—10 <:)r610
Write the decimal numbers that come next.
10.0.03 0.04 0.05 0.06; 0.07; 0.08; 0.09
12.075 076 0.77 0.78; 0.79; 0.80; 0.81
Write each decimal tenth as a decimal hundredth.
13.04= 040 12.09 = 0% 15.01 =210
16.03 = 930 17.05 = _0.50 18.07 = 070

19. Stretch Your Thinking A handful of paperclips is
5.2 grams. A handful of push pins is 500 centigrams.
Which handful weighs more? Explain.
The handful of paperclips weighs more. Each gram

is equal to 100 centigrams. So, 5.2 grams = 520

centigrams. Since 520 centigrams > 500 centigrams,
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the paperclips weigh more.
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